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N & 0l & AF & E A A
20128 = 2 5 Lotg| ) =sMsHY ~ sMEAD
PN sMESAD
HM: HIISLH(HIES/HIIE)

&2 M0l H™el (9 ® =)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hl w&z2
=M At 12,585,475 12,555,155 30,320

= 2,704,400 2,704,400 0

| 36,000 36,000 0

< 856,316 856,316 0

Al 8,988,759 8,958,439 30,320

HIIS2S(2ZES/HIIS) 4,675,528 4,655,528 20,000

= 19,400 19,400 0

< 22,000 22,000 0

Al 4,634,128 4,614,128 20,000

Mol ™el 4,127,038 4,107,038 20,000

= 19,400 19,400 0

< 22,000 22,000 0

Al 4,085,638 4,065,638 20,000

MHes d8% 2| & HEESIAMY 5,700 20,700 215,000

201 Let249H] 1,800 11,800 210,000

01 At 22l 1,800 11,800 A 10,000
OHAER =4 L UASAIY EE & QME|

S(AEF ) 23 0& 0 10,000 A 10,000

307 21201 A 3,600 8,600 25,000

02 It o482 X 3,600 8,600 25,000
OHAER =M 2 NEIAMY 2L (AL HA)

28 0& 0 5,000 25,000

HegsxF 2433 194,500 159,500 35,000

301 L2 A F 194,500 159,500 35,000

12 JIEtE 43 194,500 159,500 35,000

OHXA=HELS 194,500 159,500 35,000

— HdlE 23 100& = 1,600,000kg 160,000 130,000 30,000

—HRelE Z& 30& = 101,000kg 3,030 3,000 30

— HSctAE 238 203 = 53,000k 1,060 1,000 60

— X Z&E 143 » 115,000kg 1,610 1,400 210

— 0= 23 193 = 510,000k 9,690 9,500 190

— 2 243 * 205,000k 4,920 4,800 120

—s%deg(gayg) FEFE 150& * 13,000kg 1,950 1,800 150

—sALIH(SetAE)

23 800& = 15,000k 12,000 8,000 4,000

—sASAF 1,000& * 240kg 240 0 240

MEHHEN (SSoH Lo/ - A4E) 223,150 212,830 10,320

= 19,000 19,000 0

< 9,900 9,900 0

Al 194,250 183,930 10,320

Ots=E 23 223,150 212,830 10,320

= 19,000 19,000 0

< 9,900 9,900 0

Al 194,250 183,930 10,320
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OHs=E X 171,150 160,830 10,320

101 1Al 25,800 15,480 10,320

04 JI1ZtHZ22 s+ 25,800 15,480 10,320
8% B35 oAl

Z & 43,0008 * 5& * 120 25,800 15,480 10,320




